# Hermite-Hadamard inequalities and their applications 

Marcela V. Mihai ${ }^{1}$, Muhammad Uzair Awan²*, Muhammad Aslam Noor ${ }^{3}$, Jong Kyu Kim ${ }^{4}$ and Khalida Inayat Noor ${ }^{3}$

Correspondence:
awan.uzair@gmail.com
${ }^{2}$ Department of Mathematics, GC University, Faisalabad, Pakistan Full list of author information is available at the end of the article


#### Abstract

New Hermite-Hadamard type inequalities are established. Some corresponding examples are also discussed in detail.


MSC: 26D15; 26A51
Keywords: log-convex function; Hermite-Hadamard inequalities; Generalized logarithmic means

## 1 Introduction and preliminaries

In recent years, much attention has been given by many researchers to theory of convexity because of its great utility in various fields of pure and applied sciences. The theories of convex functions and inequalities are closely intertwined. A very interesting inequality, which is extensively studied in the literature, is due to Hermite and Hadamard who discovered it independently; now it is known as Hermite-Hadamard inequality. It provides a necessary and sufficient condition for a function to be convex. This famous result of Hermite and Hadamard reads as follows:

Let $\mathcal{F}: I \subset \mathbb{R} \rightarrow \mathbb{R}$ be a convex function, where $a, b \in I$ with $a<b$. Then

$$
\begin{equation*}
\mathcal{F}\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_{a}^{b} \mathcal{F}(x) \mathrm{d} x \leq \frac{\mathcal{F}(a)+\mathcal{F}(b)}{2} . \tag{1.1}
\end{equation*}
$$

For details and applications, see $[3,4]$.
In this paper, we consider the classes of convex, log-convex and log-concave functions. We derive some new Hermite-Hadamard type inequalities for such functions in connection with generalized logarithmic means. We also discuss some special cases.

Theorem $1.1([4,5])$ Let $\mu$ be a Borel probability measure on $[a, b]$. Then every convex function $\mathcal{F}: I \supseteq[a, b] \rightarrow \mathbb{R}$ satisfies the following analogue of Hermite-Hadamard inequality:

$$
\mathcal{F}\left(b_{\mu}\right) \leq \int_{a}^{b} \mathcal{F}(x) \mathrm{d} \mu \leq \frac{b-b_{\mu}}{b-a} \mathcal{F}(a)+\frac{b_{\mu}-a}{b-a} \mathcal{F}(b) .
$$

In an article from 1995, C. E. M. Pearce and J. E. Pečarić [7], formulated a result of Jensen type, considering generalized logarithmic means of Stolarsky [9]. For $a, b>0$, two distinct numbers, these means are defined by the formulas

$$
L_{p}(a, b)= \begin{cases}{\left[\frac{b^{p}-a^{p}}{p(b-a)}\right]^{1 /(p-1)},} & p \neq 0,1, \\ \frac{b-a}{\log b-\log a}, & p=0, \\ \frac{1}{e}\left[\frac{b^{b}}{a^{a}}\right]^{1 /(b-a)}, & p=1,\end{cases}
$$

and for $a=b>0$ we have $L_{p}(a, a)=a$.
In mathematics, the polylogarithm (also known as Jonquière function, for Alfred Jonquière) is a special function of order $s$ and argument $z$ given by

$$
L i_{s}(z)=\sum_{k=1}^{\infty} \frac{z^{k}}{k^{s}}
$$

where $z \in \mathbb{C}$. Only for special values of $s$ does the polylogarithm reduce to an elementary function such as the natural logarithm or rational functions. The reflection formula was already published by Landen in 1760, prior to its appearance in a book written in 1768 by Euler ([2], Section 10); an equivalent to Abel's identity was already published by Spence in 1809, before Abel wrote his manuscript in 1826 ([10], Section 2). Bilogarithmic functions were introduced by Carl Johan Danielsson Hill in 1828. Don Zagier in 1989 remarked that the dilogarithm is the only mathematical function possessing a sense of humor. Some particular cases of the function are:

$$
\begin{aligned}
& L i_{-3}(x)=\frac{x\left(1+4 x+x^{2}\right)}{(1-x)^{4}}, \quad L i_{-2}(x)=\frac{x(x+1)}{(1-x)^{3}}, \quad x \in \mathbb{R} \backslash\{1\} ; \\
& L i_{-1}(x)=\frac{x}{(1-x)^{2}}, \quad L i_{0}(x)=\frac{x}{1-x}, \quad x \in \mathbb{R} \backslash\{1\} ; \\
& L i_{1}(x)=-\log (1-x), \quad x \in(-\infty, 1) .
\end{aligned}
$$

These functions are represented graphically in Fig. 1.
Other special functions are Struve functions, denoted as $H_{\alpha}(x)$. These are the solutions of the non-homogeneous Bessel's differential equation

$$
x^{2} \frac{\mathrm{~d}^{2} y}{\mathrm{~d} x^{2}}+x \frac{\mathrm{~d} y}{\mathrm{~d} x}+\left(x^{2}-a^{2}\right) y=\frac{4\left(\frac{x}{2}\right)^{\alpha+1}}{\sqrt{\pi} \Gamma\left(\alpha+\frac{1}{2}\right)},
$$

Figure 1 Jonquière functions in some particular cases



Figure 2 Struve functions in some particular cases
introduced by Hermann Struve in 1882. The complex number $\alpha$ is the order of the Struve function, and is often an integer. Struve functions have the following power series:

$$
H_{\alpha}(x)=\sum_{m=0}^{\infty} \frac{(-1)^{m}}{\Gamma\left(m+\frac{3}{2}\right) \Gamma\left(m+\alpha+\frac{3}{2}\right)}\left(\frac{x}{2}\right)^{2 m+\alpha+1},
$$

where $\Gamma(z)$ is the gamma function. Another definition of the Struve function, for values of $\alpha$ satisfying $\operatorname{Re}(z)>-\frac{1}{2}$, is possible using an integral representation

$$
H_{\alpha}(x)=\frac{2\left(\frac{x}{2}\right)^{\alpha}}{\sqrt{\pi} \Gamma\left(\alpha+\frac{1}{2}\right)} \int_{0}^{\pi / 2} \sin (x \cos t) \sin ^{2 \alpha} t \mathrm{~d} t
$$

For more details, see [6]. These functions are represented graphically in Fig. 2.

## 2 Results and discussions

We will use the result of Pearce and Pečarić to indicate analogues of Hermite-Hadamard inequalities in several special cases.

Theorem 2.1 (C. E. M. Pearce and J. E. Pečarić [7]) Let $0<a<b,[c, d] \subset(0,1) \cup(1,+\infty)$ and $\mathcal{F}:[a, b] \rightarrow[c, d]$ a continuous function. If $p \neq 0,1$ and $\mathcal{G}(x)=\mathcal{F}\left(x^{1 /(p-1)}\right)$ is convex, or $p=1$ and $\mathcal{G}(x)=\mathcal{F}\left(e^{x}\right)$ is convex, then

$$
\mathcal{F}\left(L_{p}(a, b)\right) \leq \frac{1}{b-a} \int_{a}^{b} \mathcal{F}(x) \mathrm{d} x .
$$

If $p \neq 0,1$ and $\mathcal{G}(x)=\mathcal{F}\left(x^{1 /(p-1)}\right)$ is concave, or $p=1$ and $\mathcal{G}(x)=\mathcal{F}\left(e^{x}\right)$ is concave, then the inequality is reversed.

Proof The proof is immediate and is reduced to Jensen's inequality in integral form, namely, if $p \neq 0,1$ and $\mathcal{G}$ is convex, we have

$$
\begin{aligned}
\mathcal{F}\left(L_{p}(a, b)\right) & =\mathcal{F}\left[\left(\frac{1}{b-a} \int_{a}^{b} t^{p-1} \mathrm{~d} t\right)^{1 /(p-1)}\right] \\
& =\mathcal{G}\left(\frac{1}{b-a} \int_{a}^{b} t^{p-1} \mathrm{~d} t\right) \leq \frac{1}{b-a} \int_{a}^{b} \mathcal{G}\left(t^{p-1}\right) \mathrm{d} t=\frac{1}{b-a} \int_{a}^{b} \mathcal{F}(t) \mathrm{d} t .
\end{aligned}
$$

If $p \neq 0,1$ and $\mathcal{G}$ is concave, then the inequality is reversed.
If $p=1$ and $\mathcal{G}$ is convex, then

$$
\begin{aligned}
\mathcal{F}\left(L_{1}(a, b)\right) & =\mathcal{F}(I(a, b))=\mathcal{F}\left[\exp \left(\frac{1}{b-a} \int_{a}^{b} \log t \mathrm{~d} t\right)\right] \\
& =\mathcal{G}\left(\frac{1}{b-a} \int_{a}^{b} \log t \mathrm{~d} t\right) \leq \frac{1}{b-a} \int_{a}^{b} \mathcal{G}(\log t) \mathrm{d} t=\frac{1}{b-a} \int_{a}^{b} \mathcal{F}(t) \mathrm{d} t
\end{aligned}
$$

Similarly as above, if $\mathcal{G}$ is a concave function then the reversed inequality holds.
Theorem 2.2 Let $0<a<b,[c, d] \subset(0,1) \cup(1,+\infty)$ and let $\mathcal{F}:[a, b] \rightarrow[c, d]$ be a continuous and strictly increasing function, with the property that $\mathcal{F}^{-1}$ is log-concave. Then

$$
\mathcal{F}(I(a, b)) \leq \frac{1}{b-a} \int_{a}^{b} \mathcal{F}(x) \mathrm{d} x \leq \frac{L(a, b)-a}{b-a} \mathcal{F}(a)+\frac{b-L(a, b)}{b-a} \mathcal{F}(b)
$$

If the function $\mathcal{F}$ is strictly decreasing, then the last inequality is reversed.
Left inequality was noticed by Seiffert [8] in 1989.
Proof Since $\mathcal{F}^{-1}$ is the first power, we consider the case of $p=1$ and $\mathcal{G}(x)=\mathcal{F}\left(e^{x}\right)$ of Theorem 2.1. Therefore, it is sufficient to prove that the function $\mathcal{G}$ is convex for obtaining the left inequality, i.e.,

$$
\mathcal{G}((1-\lambda) x+\lambda y)=\mathcal{F}\left(e^{(1-\lambda) x+\lambda y}\right) \leq(1-\lambda) \mathcal{F}\left(e^{x}\right)+\lambda \mathcal{F}\left(e^{y}\right)=(1-\lambda) \mathcal{G}(x)+\lambda \mathcal{G}(y)
$$

which is equivalent to

$$
\begin{equation*}
e^{(1-\lambda) x+\lambda y} \leq \mathcal{F}^{-1}\left((1-\lambda) \mathcal{F}\left(e^{x}\right)+\lambda \mathcal{F}\left(e^{y}\right)\right), \tag{2.1}
\end{equation*}
$$

because the function $\mathcal{F}^{-1}$ is strictly increasing. Making substitutions $\mathcal{F}\left(e^{x}\right)=u$ and $\mathcal{F}\left(e^{y}\right)=$ $v$, we obtain $x=\log \mathcal{F}^{-1}(u)$ and $y=\log \mathcal{F}^{-1}(v)$ and then inequality (2.1) becomes

$$
e^{(1-\lambda) \log \mathcal{F}^{-1}(u)+\lambda \log \mathcal{F}^{-1}(v)} \leq \mathcal{F}^{-1}((1-\lambda) u+\lambda v)
$$

Also

$$
(1-\lambda) \log \mathcal{F}^{-1}(u)+\lambda \log \mathcal{F}^{-1}(v) \leq \log \mathcal{F}^{-1}((1-\lambda) u+\lambda v)
$$

is true because $\mathcal{F}^{-1}$ is a log-concave function. For the proof of the right-hand side inequality, we see that

$$
\frac{1}{b-a} \int_{a}^{b} \mathcal{F}(x) \mathrm{d} x=\frac{1}{b-a} \int_{\log a}^{\log b} \mathcal{F}\left(e^{u}\right) e^{u} \mathrm{~d} u=\int_{\log a}^{\log b} \mathcal{F}\left(e^{u}\right) \frac{e^{u} \mathrm{~d} u}{b-a}
$$

which is an integral of a convex function $\mathcal{F}\left(e^{u}\right)$ with respect to the probability measure $\mathrm{d} \mu(u)=\frac{e^{u} \mathrm{~d} u}{b-a}$. The barycenter of this measure is

$$
b_{\mu}=\int_{\log a}^{\log b} u \cdot \frac{e^{u} \mathrm{~d} u}{b-a}=I(a, b)
$$

Figure 3 Graph of the sine integral function


So, according to Theorem 1.1, we have

$$
\begin{aligned}
\mathcal{G}\left(b_{\mu}\right) & =\mathcal{F}\left(e^{b_{\mu}}\right)=\mathcal{F}(I(a, b)) \\
& \leq \int_{\log a}^{\log b} \mathcal{G}(u) \cdot \frac{e^{u} \mathrm{~d} u}{b-a} \leq \frac{\log b-b_{\mu}}{\log b-\log a} \mathcal{G}(\log a)+\frac{b_{\mu}-\log a}{\log b-\log a} \mathcal{G}(\log b) \\
& =\frac{L(a, b)-a}{b-a} \mathcal{F}(a)+\frac{b-L(a, b)}{b-a} \mathcal{F}(b),
\end{aligned}
$$

which completes the proof.

Example 2.3 The sine integral $\operatorname{Si}(x)=\int_{0}^{x} \frac{\sin t \mathrm{~d} t}{t}$, is strictly increasing on the interval $[0, \pi]$, see Fig. 3, and $\log \operatorname{Si}\left(e^{x}\right)$ is a concave function on $[0, \pi / 2$ ], see Niculescu and Persson [5], p. 336.

According to Theorem 2.2, for any $0 \leq a<b \leq \pi / 2$ the following double inequality holds:

$$
\operatorname{Si}(I(a, b)) \geq \frac{1}{b-a} \int_{a}^{b} \operatorname{Si}(x) \mathrm{d} x \geq \frac{L(a, b)-a}{b-a} \operatorname{Si}(a)+\frac{b-L(a, b)}{b-a} \operatorname{Si}(b)
$$

Theorem 2.4 (An analogue of Hermite-Hadamard inequality for log-convex functions) Let $0<a<b,[c, d] \subset(0,1) \cup(1,+\infty)$ and let $\mathcal{F}:[a, b] \rightarrow[c, d]$ be a continuous function, strictly increasing and such that $1 / \mathcal{F}^{-1}$ is convex. Then

$$
\mathcal{F}(L(a, b)) \leq \frac{1}{b-a} \int_{a}^{b} \mathcal{F}(x) \mathrm{d} x \leq \frac{b L(a, b)-a b}{(b-a) L(a, b)} \mathcal{F}(a)+\frac{a b-a L(a, b)}{(b-a) L(a, b)} \mathcal{F}(b)
$$

If $\mathcal{F}$ is strictly decreasing, then the last inequality holds reversed.

The left inequality was noticed for the first time by H. Alzer [1] in 1985.

Proof According to Theorem 2.1, for the left inequality it will be enough to show that the function $\mathcal{G}(x)=\mathcal{F}(1 / x)$ is convex, i.e.,

$$
\mathcal{F}\left(\frac{1}{(1-\lambda) x+\lambda y}\right) \leq(1-\lambda) \mathcal{F}\left(\frac{1}{x}\right)+\lambda \mathcal{F}\left(\frac{1}{y}\right),
$$

for any $x, y \in[a, b]$ and any $\lambda \in[0,1]$. Let $u=\mathcal{F}(1 / x)$ and $v=\mathcal{F}(1 / y)$. Then the above inequality becomes

$$
\frac{1}{\frac{(1-\lambda)}{\mathcal{F}^{-1}(u)}+\frac{\lambda}{\mathcal{F}^{-1}(\nu)}} \leq \mathcal{F}^{-1}((1-\lambda) u+\lambda \nu),
$$

that is,

$$
\frac{1}{\mathcal{F}^{-1}((1-\lambda) u+\lambda v)} \leq \frac{(1-\lambda)}{\mathcal{F}^{-1}(u)}+\frac{\lambda}{\mathcal{F}^{-1}(v)},
$$

and this is ensured by the assumption that the function $1 / \mathcal{F}^{-1}$ is convex.
With this Alzer's inequality on the left is shown.
We demonstrate both inequalities of the theorem by noting that

$$
\frac{1}{b-a} \int_{a}^{b} \mathcal{F}(x) \mathrm{d} x=\int_{1 / b}^{1 / a} \mathcal{F}(1 / u) \frac{\mathrm{d} u}{(b-a) u^{2}}
$$

which is an integral of a convex function $\mathcal{F}(1 / x)$ with respect to the probability measure $\mathrm{d} \mu(t)=\frac{\mathrm{d} u}{(b-a) u^{2}}$.
The barycenter of this measure is

$$
b_{\mu}=\int_{1 / b}^{1 / a} u \frac{\mathrm{~d} u}{(b-a)) u^{2}}=\frac{\log b-\log a}{b-a}=1 / L(a, b) .
$$

According to Theorem 1.1, it follows that

$$
\begin{aligned}
\mathcal{F}(L(a, b)) & \leq \frac{1}{b-a} \int_{a}^{b} \mathcal{F}(x) \mathrm{d} x=\int_{1 / b}^{1 / a} \mathcal{F}(1 / u) \frac{\mathrm{d} u}{(b-a) u^{2}} \\
& \leq \frac{1 / a-1 / L(a, b)}{1 / a-1 / b} \mathcal{F}(a)+\frac{1 / L(a, b)-1 / b}{1 / a-1 / b} \mathcal{F}(b) \\
& =\frac{b L(a, b)-a b}{(b-a) L(a, b)} \mathcal{F}(a)+\frac{a b-a L(a, b)}{(b-a) L(a, b)} \mathcal{F}(b) .
\end{aligned}
$$

The proof of the theorem is complete.

Example 2.5 Previous proof shows that Theorem 2.4 works for functions $\mathcal{F}$ that are continuous, strictly increasing, defined on compact intervals of strictly positive numbers and having the property that $\mathcal{G}(x)=\mathcal{F}(1 / x)$ is convex.

The function $\mathcal{F}(x)=\sin (x)$ is strictly increasing on the interval $[0, \pi / 2]$ and the function $\mathcal{G}(x)=\sin (1 / x)$ is convex for $x \in(0,2 / \pi]$, see Fig. 4. So whenever $0<a<b \leq 2 / \pi$, we have

$$
\sin (L(a, b)) \leq \frac{1}{b-a} \int_{a}^{b} \sin x \mathrm{~d} x \leq \frac{b L(a, b)-a b}{(b-a) L(a, b)} \sin a+\frac{a b-a L(a, b)}{(b-a) L(a, b)} \sin b .
$$

Figure 4 Graph of the function $\sin \frac{1}{x}$


Theorem 2.6 Let $0<a<b,[c, d] \subset(0,1) \cup(1,+\infty)$ and let $\mathcal{F}:[a, b] \rightarrow[c, d]$ be a continuous function, strictly increasing and such that $\left(\mathcal{F}^{-1}\right)^{p-1}$ is concave, where $p>1$. Then

$$
\begin{aligned}
\mathcal{F}\left(L_{p}(a, b)\right) & \leq \frac{1}{b-a} \int_{a}^{b} \mathcal{F}(x) \mathrm{d} x \\
& \leq \frac{b^{p-1}-\left(L_{p}(a, b)\right)^{p-1}}{\left(b^{p-1}-a^{p-1}\right)} \mathcal{F}(a)+\frac{\left(L_{p}(a, b)\right)^{p-1}-a^{p-1}}{\left(b^{p-1}-a^{p-1}\right)} \mathcal{F}(b) .
\end{aligned}
$$

If $\left(\mathcal{F}^{-1}\right)^{p-1}$ is convex then the reversed inequality holds.

Proof Since the argument of function $\mathcal{F}$ is $L_{p}(a, b)$, where $p>1$, we know that $p \neq 1$ and consider $\mathcal{G}(x)=\mathcal{F}\left(x^{\frac{1}{p-1}}\right)$ of Theorem 2.1. Therefore it is sufficient to prove that the function $\mathcal{G}$ is convex to obtain the left inequality, that is,

$$
\begin{aligned}
\mathcal{G}((1-\lambda) x+\lambda y) & =\mathcal{F}\left(((1-\lambda) x+\lambda y)^{\frac{1}{p-1}}\right) \leq(1-\lambda) \mathcal{F}\left(x^{\frac{1}{p-1}}\right)+\lambda \mathcal{F}\left(y^{\frac{1}{p-1}}\right) \\
& =(1-\lambda) \mathcal{G}(x)+\lambda \mathcal{G}(y),
\end{aligned}
$$

which is equivalent to

$$
((1-\lambda) x+\lambda y)^{\frac{1}{p-1}} \leq \mathcal{F}^{-1}\left[(1-\lambda) \mathcal{F}\left(x^{\frac{1}{p-1}}\right)+\lambda \mathcal{F}\left(y^{\frac{1}{p-1}}\right)\right],
$$

that is, because the power function exponent $p-1$ is strictly increasing, leading to

$$
\begin{equation*}
(1-\lambda) x+\lambda y \leq\left\{\mathcal{F}^{-1}\left[(1-\lambda) \mathcal{F}\left(x^{\frac{1}{p-1}}\right)+\lambda \mathcal{F}\left(y^{\frac{1}{p-1}}\right)\right]\right\}^{p-1} . \tag{2.2}
\end{equation*}
$$

Making substitutions $\mathcal{F}\left(x^{\frac{1}{p-1}}\right)=u$ and $\mathcal{F}\left(y^{\frac{1}{p-1}}\right)=v$, we obtain $x=\left(\mathcal{F}^{-1}(u)\right)^{p-1}$ and $y=$ $\left(\mathcal{F}^{-1}(v)\right)^{p-1}$, where $a \leq x^{\frac{1}{p-1}}, y^{\frac{1}{p-1}} \leq b$. Due to the last inequalities and monotonicity of $\mathcal{F}^{-1}$, inequality (2.2) becomes

$$
(1-\lambda)\left(\mathcal{F}^{-1}(u)\right)^{p-1}+\lambda\left(\mathcal{F}^{-1}(v)\right)^{p-1} \leq\left[\mathcal{F}^{-1}((1-\lambda) u+\lambda v)\right]^{p-1},
$$

which holds since $\left(\mathcal{F}^{-1}\right)^{p-1}$ is concave. For the proof of the second inequality, we see that

$$
\frac{1}{b-a} \int_{a}^{b} \mathcal{F}(x) \mathrm{d} x=\int_{a^{p-1}}^{b^{p-1}} \mathcal{F}\left(u^{\frac{1}{p-1}}\right) \cdot \frac{u^{\frac{2-p}{p-1}} \mathrm{~d} u}{(b-a)(p-1)},
$$

which is an integral of a concave function $\mathcal{F}\left(x^{\frac{1}{p-1}}\right)$ with respect to the probability measure


$$
b_{\mu}=\int_{a^{p-1}}^{b^{p-1}} u \cdot \frac{u^{\frac{2-p}{p-1}} \mathrm{~d} u}{(b-a)(p-1)}=\left(L_{p}(a, b)\right)^{p-1} .
$$

So, according to Theorem 1.1 we have

$$
\begin{aligned}
\mathcal{G}\left(b_{\mu}\right)= & \mathcal{F}\left(b_{\mu}^{\frac{1}{p-1}}\right)=\mathcal{F}\left(L_{p}(a, b)\right) \leq \int_{a^{p-1}}^{b^{p-1}} \mathcal{G}(x) \mathrm{d} \mu \leq \frac{b^{p-1}-b_{\mu}}{b^{p-1}-a^{p-1}} \mathcal{G}\left(a^{p-1}\right) \\
& +\frac{b_{\mu}-a^{p-1}}{b^{p-1}-a^{p-1}} \mathcal{G}\left(b^{p-1}\right)=\frac{b^{p-1}-\left(L_{p}(a, b)\right)^{p-1}}{\left(b^{p-1}-a^{p-1}\right)} \mathcal{F}(a)+\frac{\left(L_{p}(a, b)\right)^{p-1}-a^{p-1}}{\left(b^{p-1}-a^{p-1}\right)} \mathcal{F}(b),
\end{aligned}
$$

and the proof is complete.

Example 2.7 The polylogarithm function of Jonquière corresponding to $s=1, L i_{1}(x)=$ $-\log (1-x), x \in(-\infty, 1)$ (see Fig. 1) admits the inverse $L i_{1}^{-1}(x)=1-e^{-x}$, for which $\left(L i_{1}^{-1}\right)^{2}$ satisfies the assumptions of Theorem 2.6 on the interval $(0,1)$ and so

$$
\begin{aligned}
L i_{1}\left(L_{3}(a, b)\right) & \leq \frac{1}{b-a} \int_{a}^{b} L i_{1}(x) \mathrm{d} x \\
& \leq \frac{b^{2}-\left(L_{3}(a, b)\right)^{2}}{b^{2}-a^{2}} L i_{1}(a)+\frac{\left(L_{3}(a, b)\right)^{2}-a^{2}}{b^{2}-a^{2}} L i_{1}(b),
\end{aligned}
$$

for all $a, b \in(0,1)$.

Example 2.8 Struve's function corresponding to $\alpha=1$,

$$
H_{1}(x)=\frac{2 x}{\pi} \int_{0}^{\pi / 2} \sin (x \cos t) \sin t \mathrm{~d} t, \quad x \in[0,3]
$$

admits the inverse, for which $\left(H_{1}^{-1}(x)\right)^{2}$ satisfies the assumptions of Theorem 2.6 on the interval $(0,3)$ and so

$$
\begin{aligned}
H_{1}\left(L_{3}(a, b)\right) & \leq \frac{1}{b-a} \int_{a}^{b} H_{1}(x) \mathrm{d} x \\
& \leq \frac{b^{2}-\left(L_{3}(a, b)\right)^{2}}{b^{2}-a^{2}} H_{1}(a)+\frac{\left(L_{3}(a, b)\right)^{2}-a^{2}}{b^{2}-a^{2}} H_{1}(b),
\end{aligned}
$$

for all $a, b \in(0,3)$.

Example 2.9 The polylogarithm function of Jonquière corresponding to $s=0, L i_{0}(x)=$ $\frac{x}{1-x}, x \in \mathbb{R} \backslash\{1\}$ (see Fig. 1) has the corresponding inverse $L i_{0}^{-1}(x)=\frac{x}{x+1}$, for which $\left(L i_{0}^{-1}\right)^{-1 / 2}$ satisfies the assumptions of Theorem 2.6 on the interval $(0.5,0.9)$ and so

$$
\begin{aligned}
L i_{0}\left(L_{\frac{1}{2}}(a, b)\right) & \leq \frac{1}{b-a} \int_{a}^{b} L i_{0}(x) \mathrm{d} x \\
& \leq \frac{b^{-1 / 2}-\left(L_{\frac{1}{2}}(a, b)\right)^{-1 / 2}}{b^{-1 / 2}-a^{-1 / 2}} L i_{0}(a)+\frac{\left(L_{\frac{1}{2}}(a, b)\right)^{-1 / 2}-a^{-1 / 2}}{b^{-1 / 2}-a^{-1 / 2}} L i_{0}(b),
\end{aligned}
$$

for all $a, b \in(0.5,0.9)$.

## 3 Conclusion

We have established some new results of Hermite-Hadamard type for generalized logarithmic means. We have also elaborated the results with corresponding examples. Special cases were also discussed in detail. It is expected that the results of the paper will inspire interested readers.

## Acknowledgements

Authors are thankful to editor and anonymous reviewers for their valuable comments and suggestions. Second and Third authors are also thankful to HEC for the project No: 8081/Punjab/NRPU/R\&D/HEC/2017.

## Funding

This work was supported by the Basic Science Research Program through the National Research Foundation (NRF) Grant funded by Ministry of Education of the Republic of Korea (2015R1D1A1A09058177).

Competing interests
Authors declare that they have no competing interests.

## Authors' contributions

MVM, MUA, MAN, JKK and KIN worked jointly. All the authors read and approved the final manuscript

## Author details

Department Scientific-Methodical Sessions, Romanian Mathematical Society-Branch Bucharest, Bucharest, Romania. ${ }^{2}$ Department of Mathematics, GC University, Faisalabad, Pakistan. ${ }^{3}$ Department of Mathematics, COMSATS University Islamabad, Islamabad, Pakistan. ${ }^{4}$ Department of Mathematics Education, Kyungnam University, Changwon, Korea.

## Publisher's Note

Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.
Received: 10 June 2018 Accepted: 30 October 2018 Published online: 12 November 2018

## References

1. Alzer, H.: On an integral inequality. Anal. Numér. Théor. Approx. 184, 101-103 (1985)
2. Maximon, L.C.: The dilogarithm function for complex argument. Proc. R. Soc. A 459, 2807-2819 (2003)
3. Milovanovic, G.V., Rassias, M.T. (eds.): Analytic Number Theory, Approximation Theory and Special Functions. Springer, Berlin (2014)
4. Niculescu, C.P., Persson, L.-E.: Old and new on the Hermite-Hadamard inequality. Real Anal. Exch. 29, 663-685 (2003)
5. Niculescu, C.P., Persson, L.-E.: Convex Functions and Their Applications. A Contemporary Approach, 2nd edn. CMS Books in Mathematics, vol. 23. Springer, New York (2018)
6. Olver, F.W.J., Lozier, D.M., Boisvert, R.F., Clark, C.W.: NIST Handbook of Mathematical Functions. Cambridge University Press, Cambridge (2010). ISBN 978-0521192255
7. Pearce, C.E.M., Pečarić, J.E.: Some theorems of Jensen type for generalized logarithmic means. Rev. Roum. Math. Pures Appl. 40, 789-795 (1995)
8. Seiffert, H.J.: Eine Integralungleichung für streng monotone Funktionen mit logarithmisch konvexer Umkehrfunktion. Elem. Math. 44, 16-18 (1989)
9. Stolarsky, K.B.: The power and generalized logarithmic means. Am. Math. Mon. 87(7), 545-548 (1980)
10. Zagier, D.: The dilogarithm function. In: Cartier, P.E., et al. (eds.) Frontiers in Number Theory, Physics, and Geometry ॥—on Conformal Field Theories, Discrete Groups and Renormalization, pp. 3-65. Springer, Berlin (2007)

## Submit your manuscript to a SpringerOpen ${ }^{\ominus}$ journal and benefit from:

- Convenient online submission
- Rigorous peer review
- Open access: articles freely available online
- High visibility within the field
- Retaining the copyright to your article

Submit your next manuscript at springeropen.com

